POLITICAL SCIENCE

Paper - 11
Signature of Invigilators 0CT-10/11 Roll No.
(In figures as in Admit Card)
L Roll Now oo
e
(in words)
Time Allowed : 75 Minutes]| [Maximum Marks : 100

Instructions for the Candidates

1. Write your Roll Number in the space provided on the top of this page.

2. This paper consists of fifty (50) multiple choice type questions. All questions are compulsory.

3. Eachitem has upto four alternative responses marked (A), (B), (C) and (IJ). The answer should be

a capital letter for the selected option. The answer letter should entirely be contained within the
corresponding square.

Correct method A Wrong method ] OR A

Your responses to the items for this paper are to be indicated on the ICR Answer Sheet under
Paper 11 only.

Read instructions given inside carefully.

Extra sheet is attached at the end of the booklet for rough work.

You should return the test booklet to the invigilator at the end of paper and should not carry any
paper with you outside the examination hall.

There shall be no negative marking.

Use of calculator or any other electronic devices is prohibited.

0. Incaseofany discrepancy in Gujarati and English version of Questions the English version should
be taken as final. ’

ylaue{{=il a2 Yya-ui -

oo wendl Ziadi sulddl gowl anl Jlader duil. _

2 WAL ogdsBus Gl wrladl sA v (o) usdl suden . oar of Ml S D,
3. ucls s agul ag AR ogAsiEus Gurl 414 6. % (A), (B), (C) 214 (D) ad eulaqni 2uey
9. uarirl G Hlled sl a8 wivall 88 Gra-l Aal 2wild Wl sl 2 a4 Jd
auialdl 244,

w3 A : A il A : ] , A

¥, @ U et 2la ICR Answer Sheet -l Paper II Qeuadl 3 »uld wieiaiug
el 44l

4 vied g Ya-usl siaeyds aidl.

$. wloopsdeddl wiesul LG Wi 5 st MR B,

o,  udla 4L A o wel wogsde ¥ 4 FAAas Al 2. sidum s wla visHl osia
as aal dl.

¢. et At e AR Yais nay -l .

€. besydar A Sasgils datidl wdiey sl s 6, . - .

10, 112-13[-»1-11 oAl Yl it 20w eusid il S16 @A Bl HOd di 23 2N o e Al
2448,

Political Science-II 1 [P.T.0.]

-

e

Bo P




Political Science-II




POLITICAL SCIENCE
PAPER-II

U-{a [asa
Yy-I1

Note : This paper contains FIFTY (50) multiple-choice matching questions, each

question carrying TWO (2) marks. Attempt All the questions.
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The state is glorified as “March of
God on Earth” by : '

(A) Bentham
(B) Kant
(C) Hegel
(D) Marx

Which of the following thinkers

propounded the science of politics for

the first time ?

(A) Socrates

(B) Thomas Hobbes
(C) Aristotle

(D) St. Augustiné

Which of the following is not a
safeguard of liberty ?

(A) Separation of Powers
(B) Independent Judiciary
(C) One-Party Rule

(D) Fundamental Rights
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4. Who among the following can be
described as a ‘positive’ liberal
thinker ?

(A) Adam Smith

(B) Jeremy Bentham

(C) T.H. Green

(D) - Herbert Spencer

5. According to Karl Marx :

(A) The ‘relations of production’

’ depend wupon ‘forces of
production’

(B) The ‘forces of production’
depend upon ‘relations of
production’

(C) The “forces of production’ and
‘relations of production’ are
independent of each other

(D) The ‘“forces of production’ and

‘relations of production’ are

always opposed to each other
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Who initiated the idea of

“hegemony” for explaining failure of

communist revolutions ?
(A) Lenin

(B) Trotsky

(C) Stalin

(D) Gramsci

The concept of “total revolution” in

India was first put forward by :
(A) Veer Sawarkar

(B) Lokmanya Tilak

(C) Vinoba Bhave

D) Aurobindb Ghosh

Whose theory of political obligation
almost amounted to a “theory of

revolution” ?
(A) Hobbes
(B) Locke

(C) Rousseau

(D) Edmund Burke
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10.

11.

Austin’s theory of sovereignty

was :

(A) Political
(B} KEconomic
(C) Social

(D) Legalist

The behavioural approach came as

a reaction to :

(A) Marxist approach
(B) Normative approach
(C) Scientific approach
(D) Legal approach

“The state is everywhere; it
involves hardly a gap.” Which of
the following concepts explains the

above ?

(A) Democratic State
(B) Federal State
(C) Welfare State

(D) Police State
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12. Which of the following is not true

13.

about Bill of Rights in the U.S. ?

(A) The rights were introduced by

constitutional amendments

(B) The constitution specifically
mentions limitations on each
right

(C) These rights do not exclude the
rights not covered in the Bill

of Rights

(D) Judiciary has power of Judicial

Review in relation to rights

‘Consensus model of Democracy’ is

not compatible with which of the

following :

(A) Multi-party system

(B) Proportional representation
sjstem

(C) Federal Government

(D)‘ Executive dominance of
legislature
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14.

{a)

(b)

)

(@

15.

Match List I and List II in relation
to the US Constitution by using

given codes :

List 1 List IT
Power to formulate (1) House of
foreign policy Representatives

Power to oppose (2) American Congress

treaties
Power to declare (3) US President
war
Power to initiate (4) Senate
impeachment of
President

(A) a-2, b-3, ¢-1, d-2

(B) a-3, b-4, ¢-2, d-1

(C) a-4, b-2, ¢-3, d-1

D) a-1, b-8, c-4, d-2

The nominal executive head in a
parliamentary system exercises

powers in consultation with the -

(A) Prime Minister

(B) Prime Minister and the

Council of Ministers

(C)

Parliament and the Prime

Minister

(D} Prime Minister and Chief

Justice of Supreme Court

Political Science-I1

14.

a)

{b)

(c)

@)

15.

AL 5L oiee-l deold] 2wla

sloril GudioL 531 wel T am Wil 11
DISTRE

el el

lza-lladg asqz (1) wla[@ usy

AR BRI 52410(2) M50 §130%

Al

46 A2 sl Al (3) wAR e Wy

AR S W 0N () A3

w2dl Elmd s3ai-]

{impeachment)

il
(A)
(B)
(&)

(D)

a-2, b-3, ¢-1, d-2
a-3, b-4, ¢-2, d-1
a-4, b-2, ¢-3, d-1
a-1, b-3, c-4, d-2

dueld wsldlui -l g6 7]
Artirl Buyiol il uareel) au @ 9

(A) M)
(B) Mol v Hxlasn)
(C) HMUE A w1

(D) MeuHal »in walzay wgieqn)
Yo~y yyfd-)




16.

17.

Which of the following is a feature

of federalism ?
(A) Existence of local governments

(B) Division of powers between

States and Union

(C) Separation of powers between

Legislature and Judiciary

(D) Separation of powers between

Executive and Legislature

‘Which one of the following is true

about the concept of power ?

(A) It is a relationship of

dominance and subordination

among men

(B) It depends upon the capacity

to influence others

(C) It is used to achieve desired

ends

(D) All of the above
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18. Political socialisation does not

shape :

(A) Political culture

(B) Political participation
(C) Political system

(D) Voting behaviour

19. Learning about politics and
developing core values and
attitudes that would influence

political views, is called :
{A) Indoctrination

(B) Revolution

(C) Political modernization

(D) Political socialization
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20. -The following.are_the tactics used  20.

21.

. by pressure/interest groups :

(1) Lobbying

(2) Consultation
(3) Use of media
(4) Pfotest
{A) only (1) and (2) afe correct

(B) only (1), (3) and (4) are correct

(C) only (3) and (4) are correct

(D) all are correct

The British Parliament made a bid
to regulate the affairs of the British
East India Company for the first

time by :

(A) The Regulating Act of 1773
(B) Pitts India Act of 1784

(C) Queen’s Proclarﬁation of 1858

(D) Indian Councils Act of 1861
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22.

23.

Which of the following classes
emerged in India as a result of the

British colonialism ?
Zamindars

Share croppers
English-educated elite
All of the above

Arrange the following in the same
order as they figure in the preamble
of the Indian Constitution by using
the given code :

(I} Sovereign
(IT)y Republic
(IIT) Secular
(IV) Socialist

(V) Democratic

Code
Ay IT v Iv III 1
B) I IV III Vv 1II

C© I1II 1 V IV III

M 1 v 11 v 11
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25.

24. In which case did the Supreme

Court hold that Fundamental
Rights cannot be amended even for
the implementation of Directive

Principles ?

(A AK. Gopalan Case

(B) Keshavanand Bharati Case
(C) Golaknath Case

(D) Minerva Mills Case

A and R represent assertion and

reason :

A : Indian Constitution described
who were to be citizens of India
at the commencement of the

Indian Constitution.

R : It was left to Parliament to
frame the entire Law of

Citizenship.

(A) Both A and R are correct and

R is explanation (reason) of A

(B) Both A and R are correct but

R is not an explanation of A
(C) A is correct, R is incorrect

(D) A is incorrect, R is correct
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26.

27.

A is assertion, R is reason :

A : British Crown’s suzerainty
lapses with the passage of
Indian Independence Act of

1947.

: Princely states joined Indian
Union because they had no

option.

(A) Both A and R are correct and

R is explanation (reason) of A

(B) Both A and R are correct but

R is not an explanation of A
{C) A is correct, R is incorrect
(D) A is incorrect, R is correct

Indian Constitution has borrowed
the highest number of features

from :

{(A) US Constitution

(B) Constitution of UK

(©)

Canadian Constitution

(D) Government of India Act of

1935

Political Science-I1
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28. Principle of separation of powers

29.

does not prevail at all in :

(A)

(B)

(C)

(D)

UK

USA

India

Australia

Which of the following is not true

about Comptroller and Auditor

General of India ?

(A)

(B)

(©

D)

His office is established under

Indian Constitution

His powers and duties are
described in detail in Laws of

Parliament

He does the work of aﬁditing
of expenditure of Union and

States

He controls issue of money
from Consolidated Fund of

India
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30.

31.

- R : President is

A is assertion, R is reason :

A : Bills passed by Parliament
cannot become Law without

the President’s assent.

part of the

Parliament.

(A) Both A and R are correct and

R is explanation (reason) of A

(B) Both A and R are correct but

R is not an explanation of A
(C) A is correct, R is incorrect

(D) A is incorrect, R is correct

The POSDCORB view of Public
Administration was formulated

by :

(A) L.D. White
(B) Luther Gulick
{C) Herbert Simon

(D) Woodrow Wilson
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32. The Minnowbrook Conference 1s

associated with :

(A) Politicisation of Public

Administration

(B) Introduction of environmental
prespectives in  Public

Administration

(C) Evolution of New Public

Administration

() Interaction between
- Management Sciences and

Public Administration

33. Public Administration came to be
seen in the following philosophy by

John Rawls :

Yy Political interest
(B) Elite interest
(C) State interest

(D) Public interest
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34. Development Administration is :

(1)
(2)

(3)

(A)
(B)
(C)
D)

35.

Status quoist
Change oriented

Concerned with socio-economic

change

Result oriented

only (1), (3) and (4) are correct
only (2), (3) and (4) are correct
only (2} and (4) are correct

all the four are correct

The following are some features of

an organization :

(1)
(2)
3)
(4)
(A)
(B)
(C)

(D)

Division of work

Unbroken line of authority
Unity of command

Span of control

only (2), (3) and (4) are correct
only (1), (3) and (4) are correct
only (3) and (4) are correct

all the four are correct |
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36.

37.

38.

Which of the following is not a line
unit ?

(A) Tecﬁnical staff

(B) Government Corporation

(C) Government Department

(D) Independent

Commission

The decision-making theory in
public administration was an

important contribution of :
(A) Frederick Taylor

(B) Max Weber

(C) Woodrow Wilson

(D) Herbert Simon

The Chief Executive is :

(A) A politicai leader

(B) An administrative head

(C) A social activist

(D) A political leader and an

administrative head
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'39. The Administrative Tribunals Act

40.

of India looks into :

(A)

(B)

(&)

(D)

Transfer of employees
Redressal of grievances

Relation between political
leaders and administrative

heads

The budget proposals of the
Department of Administrative

Affairs

Perfomance Budget is based on :

(A)

(B)

(C)

D)

Functions, programmes and

activities

Availability of funding for any
specific programme

The social importance of émy

given programme

Targets identified by a local

government for development
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41. Decision-making approach is 41. id gl Axst@aHi ‘Fely daiel

associated with : wEU 42U 3ved sdl w0
(A) Kenneth Waltz siell 8 Asoudi & 7
(B) Karl Deutsch | A BlRa diees
(C) Richard Snyder (B) std s
D) John Herz ©) R 252
D) A 83

42. The concept of Balance of Power

belongs to the following school of 42, Atlixlt HdErL wud 565 Q13 438(

thought : A8 Asoudl © ?
(A) Idealism @A) susdais
(B) New realism (B) A4 atxdddie
(C) Realism : (C) dlrdddle
(D) Marxism - D) usddie

43. Indo-Russian Friendship Treaty 43. ®ld (3 Al Al 5§ wani

was signed in the year : s QLCQ ?
(A) 1971 | (A) 19'l71
(B) 1972 (B) 1972
(C) 1973 | (©) 1973
I 1974 (D) 1974
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44,

45.

46.

47.

START Treaties were signed  44.

by which of the following two

countries :
(A)
(B)

US and China

China and USSR
(C)
(D)

US and USSR (Russia)
India and Pakistan

Theory of containment by US

during cold war was aimed at :
(A) Germany

(B) Italy

(C) Japan

(D) Soviet Union

The initiative for Africa Fund was

46.

taken by :

(A) OAU

(B) South Africa
(C) NAM

(D) UN

First Oil Shock (1973) streng- 47

thened :
(A) South-South Co-operation
(B)
(C)

(D)

North-South Dialogue
North-North Co-operation

European Integration

Political Science-I1 292

45.

el wll daisal AL AR
(START) sul 6l zall a2 48 7

(A) Y2, 2 A
(B) Al A y.uiu AR,

(C) 4. 2%, A Y. AR AU
() '

M) 1d 2 WA

ald de ¥ Y. 2A. glRL
iuntendell sice-l la sa e Wi
el 7

(A -l
(B) da1dl
(C) M
(D) Alade «y

GBS S8 ML GusH 58l dlal
Sl ?

(A) i.2.Y. (OAL)

B) sl 2ulEs

(C) [Besielael 1ag0 (NAM)
(D) Aysd w2 Ay (4.94+.)

1973 {1 uddl vy da-dl salsdla
sl Hwod oLy,

(A) elEe-cl@a Asdiol
(B) Gua-s[E8 g
(C) Gr2-Gd AsHR
D) yUUAA Asdl




 48. The following is the new member
of SAARC

(A)
(B)
()
(D}

Maldives
Afghanistan

Myanmar

China

49. Dispute in the Siachin Glacier area

~ is between :

(A)
(B)
(&)
(1)
50. The

India and Pakistan
India and China
India and Nepal
China and Pakistan

Inde US nuclear deal had to

be cleared by :

(1)
(2)

(3)
(4)

(A)
(B)
(C)
(D)

Nuclear Suppliers Group

International Atomic Energy

Agency
US Congress

United Nations Security

Council

only (1) and (2) are correct
only (1), (2) and.(3) are correct
only (1), (2) and (4) are correct

all the four are correct

48.

49,

50.

Political Science-II

U (SAARC) il el Aox 2ol 50l
69 7

(A) Hidleey

(B) ssulHcin

(C) LeHIR

D) Al

Al safu -l Qate S 9423
9 7

(A) *URd 21 WA

(B) ®Ud 2 Al

(C) &Ucl i vl 1
(D) Al 2 YlFdie

HlRd 2ARSL 424 219 52U 519
HYR sl syl ?

(1) UMY YRA8L 2UUUR AL
s

(2) 208l 2, Glof Bw-]

(3) .2, SiAY

@) 3l venxdl AR

(A) izt (1) 27 (2) Wl &

(B) 2t (1), (2) 2 (3) W &

(©) WA (1), () 24 (4) A &

D) oyl AAL D
[P.T.O.]




ROUGH WORK
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